HOH®E miHES)

__BA_B_&H_® RISR
(1) lha = pkm?
(2) 3mm? = ocm?
(3) 8ha = okm?
(4) 3km? = pha
(5) 1ha = Da

DT M TEHNSH AR (https://chugakujyuken-sansuu. com/) & YERTHA YL O—KFTEET,



EuomE mKo)

(1) 1ha = (.01 km?
S
lha =100a
=10000m?
lkm? =1lkmxlkm
=1000mx1000m
=1000000m?
1km?2(%1000000+10000 = 100ha
(2) 3mm? = 0.03 cm?
<Rt
lem? =lcmxlcm
=10mmx10mm
= 100mm?

£2T.3+100 = 0.03cm?

(3) 8ha = 0.08 km?

<#RE>

lha =100a
=10000m?

lkm? =1kmxlkm
=1000mx*1000m
=1000000m?

1km2(2 100000010000 = 100ha
£92T. 8+100 = 0.08km?

(4) 3km? = 300 ha

<fREn>

l1ha =100a
=10000m?

1km? =1kmxlkm
=1000mx1000m
=1000000m?

1km2(£ 100000010000 = 100ha
£27T. 3%x100 = 300ha

(5) 1ha = 100 a

<FRER>

lha =100a
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